PUNJAB EXAMINATION COMMISSION Model Paper 2
EXAMINATION 2015, GRADE 8
MATHEMATICS PART - B (Subjective Type) RUBRICS

Part-A = 48 Marks, Part-B = 52 Marks, Total Marks = 100

Q.No. 33 (a) If A = {2,4,6,8,10} and B={1,2,3,4,5,6,7,8} then find AnB (3)
U/ p# AnB IB={1,2,3,4,5,6,7,8}uA = {2,4,6,8,101./1

A={2,46,810}

B={1,2,3,4,5,6,7,8}

ANB = {2,4,6,8,10} n{1,2,3,4,56,7,8} 2 Marks
ANB = {2,468} 1 Mark

Note: If students directly write ANB then award 3 marks q;ﬁ"ﬁwﬂAnB il S

(b): Find the square root of 2 up to 2 decimaklplaces (5)
WS [ PN N Py
1.414
1 12.000000
1 1 mark
24| 1.00
096 1 mark
2.81| 0.0400

0.0281 1 mark
2.824 0.0011900
0.011296 1mark

0000604
V2 =1241 1 mark
(c) Find the cube root of 125 U/ r#,ﬂu}ﬁlzs (2)
3125 0.5 Mark
= 3/5x5x5 0.5 Mark
1
= (5°)° 0.5 Mark
=5 0.5 Mark
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Q.No. 34 (a) Convert (1432)s into decimal system.

QS L8680 (1432)s @)
(1432)s = 1x5° + 4x52 + 3x5! + 2x50 0.5 Mark
= (1x125)+(4x25)+(3x5)+(2x1) 0.5 Mark
=125+100+15+2 0.5 Mark
=242 0.5 Mark

(b) The annual income of Khalid is Rs. 2346000. The amount of rebate intax (4)
Is Rs. 400000. Calculate the amount of income tax at the rate of 17.5%.

LSS Bl £17 5% g g_51400000 2t - d0,2346000047 00 S

Annual income = Rs 2346000
Taxable income = 2346000 — 400000 } 1 Mark
= Rs 1946000
17.5
Amount of Income Tax @17.5% = ﬁx1946000 1 Mark
= 175 x1,946,000
10x100
= Rs 340,550 2 Marks (1 mark for unit)
duTz0l- = Rs 2346000
[L«TJ? J6 = 2346000 — 400000 } / 1
= Rs 1946000
F5E Fle o £y 217.5% = %x1946000 A1
_ a1 4487000
10x100
= Rs/340,550 A2 L6360

(c) If the price of 12/metre long and 6 metre wide carpet is Rs.4716, then find (4)
the price ofi\8 metre long and 3 metre wide such carpet-

e B r i 3 28 LiTng s ATI62d 5 15 2 6md 21211

Length(in metre) ~ Width(in metre) Price (in Rs.)

(3 BTN (L)t

T 12 T 6 T4716 1 mark
8 3 X

Identifying correct proportion by arrow sign or by statement 1 Mark

,L‘?legut%j,gu’,&fﬁé‘&/li
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X 8

= = 3 X — 1 mark
716 6 12
= %x 4716
72
X  =Rs. 1572 1 mark
Q.No. 35: (a) Solve (2 X2+ 2 x+3) — (x-2) g/ (2)
(2x% + 2x+3)— (x-2)
= 2X% + 2X+3-x+2 1 Mark
= 2X°+X+5 1 Mark
(b) Factorize x2 — 14 x + 49 X2 14 x4 49 .7 S6F ()
X2—14 x + 49
= X2 T7x-7x + 49 1 Mark
= X(X-7) — 7(x-7) 1 Mark
=(x-7) (x-7) 1 Mark
Note: If student solve this by any other method of faetorization, he / she will be awarded full
marks.
(c) Solve the given simultaneous linear-eguations by equating coefficient. (5)
-q.'/ §4 & PLE S pad s /u’ud/ UPsba Bk 6( $»
2X+ y=6
X+2y=9
2x+ y =6 1)
X+2y=9 (2
4x + 2y =12
+x+ 2y =49 1 Mark
3X =3 1 Mark
3
X=—
3
x=1 1 Mark
By putting value of x in equation (2), we gete_d_/To i) bslred §X
1+2y=9 0.5 Mark
2y =9-1 0.5 Mark
2y =8
-8
2
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y =4 1 Mark
so x=1, y=4

Note: Student will be awarded marks for equating the coefficients of any variable.

Q.No0.36 (a) By using Hero’s formula, find the area of a triangle when the (4)
lengths of its sides are 6 cm, 8 cm and 10cm.

-#10cm . 8cm, 6 cm uggJJCMLm,éq/rP,}/chuJéé; ¥

a=6 b=8 c¢=10

a+b+c )
S =
2
s 6+8+10 -
2
S= % =12 1 Mark
Area of triangle S.xt2= \/s(s — a)(s — b) (s — ¢)
=/12(12-6)(12-8)(12-10) 1 Mark
=12(6)(4)(2)
=/576
=24cm? 2 Marks (1 mark for correct square
root + 1mark for unit)
A 16060+ A1, i er i)
(b) Construct a regular hexagon with each,side measuring 4 cm. (6)
AP L et P
For,
e Drawing a circle of radius,.4cm 1 Mark
e Taking a point A on the circle 1 Mark
e Starting from point A , drawing six arcs of radius 4cm at points of the circle at B,
C, D, E, Fwith centreat A,B,C,D and E respectively. 2 Marks
e JoiningAtoB,BtoC,CtoD,DtoE,EtoFandFtoA. 2 Marks
A1 Ll K4 e E(—D
A1 /74 ALl s ® / \
2 Esl DCBAwZ /)L FED,C Bl [Esfendi * F C
gl adun e E A S \ /
42 —yibe ASFMFSEE/D,DSC,C/BBSA ® ~—"8

Note: If students make hexagon by any other correct method, then he will be awarded full
marks.

‘.J”»tgéw_)/z./;:’cf;uj&lku’»/‘c&/l’uuﬁ!u"/u";lbﬁ
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Q.No. 37(a) Prove that: If two lines intersect each other, then the opposite (7)
vertical angles are congruent.

-ujZ.nJ‘L?“d“_sl)ng‘.&:"(fl/;q’/(f;fa/uugLP»/(l:q}::ab‘

Diagram »< 1 Mark
Given (s 1 Mark
To prove—s 1 Mark
Construction} 1 Mark
Statements=tL 2 Marks
Reasons v 1 Mark
(b) Find the value of angle A from the given triangle. (3)
A r)-’*.-,é'JAg,uufwéfd;
C
sinmZ A= % 0.5 mark
. 2
sinmzZA = — 1 mark b #2:/2
A 2.2 a=2
. 1
SiInmzZA = —— 0.5 mark
AT
MmZA = 45° 1 mark A c B
(c) Find the mode of data 3, 5, 4, 2,4, 6,94, 3, 7 (2)

[T 3 4 5 <6 4 2 4 5 3oy
Correct answer Mode='4 2 Marks
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